
vérification

     quotient = 84

     reste = 3

division à poser

423 ÷ 5

vérification

     quotient = 231

     reste = 3

division à poser

927 ÷ 4

vérification

     quotient = 169

     reste = 0

division à poser

507 ÷ 3

vérification

     quotient = 369

     reste = 1
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vérification

     quotient = 38

     reste = 1

division à poser

153 ÷ 4

vérification

     quotient = 78

     reste = 1

division à poser

235 ÷ 3

vérification

     quotient = 150

     reste = 0

division à poser

750 ÷ 5

vérification

     quotient = 86

     reste = 0

division à poser
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vérification

     quotient = 246

     reste = 0

division à poser

984 ÷ 4

 

vérification

     quotient = 133

     reste = 1

division à poser

400 ÷ 3

vérification

     quotient = 324

     reste = 0

division à poser

648 ÷ 2

vérification

     quotient = 199

     reste = 3

division à poser
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vérification

     quotient = 261

     reste = 2

division à poser

785 ÷ 3

vérification

     quotient = 249

     reste = 0

division à poser

996 ÷ 4

vérification

     quotient = 168

     reste = 2

division à poser

842 ÷ 5

vérification

     quotient = 95

     reste = 0

division à poser

285 ÷ 3
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